Unit 1, Station 2, Round 3,

Task 3
jh Multiplication (Vertical) Name: _Answer Key
Solve each problem. Answers
1) 2) 3) 4 .

37 79 56 64 . 250
w7 = 6 = 8B x 9
259 474 448 576 5 474
2 448
4 576
5 i) 8
5 80 ) 60 91 ) 29 . 400
w5 w  # = 0 * 6
400 480 819 174 ;. 480
- 819
g 174
q 10 11 12
)62 ) 20 )13 )89 . 496
= & = 3 = 8 ® 5
496 60 104 445 10. 60
1. 104
12 445
13 oy 4) 28 15 28 16) 23 - 284
= 8 ® ® 5 % 2
784 196 140 46 14 196
15, 140
16, 46
17 81 18) 40 19) 40 20 g8 - 405
= 5 = 2 = 8 x §
405 R0 320 704 18. 80
5 320
20, 704




Unit 1, Station 2, Round 8,
Task 3

ﬂh Multiplication with Helper Gnid Name: Answer Kev
Solve each problem. Answers
Y 2 Y 1 3.069
9 o 2 b
0|9 = 5 8 2 5?394
+219l70 7144
- )
3/0l6]09 + 416130 - 736
313 94
F 2,590
5 2.688
3) 3 4) 1
. 2.5
4 6 2 6 w20
= 1 6 7 4 _
=17 6 ¥ 35 7 2,[?33
+ 416 0 31710 .
71316 + 212120 g 3,913
215900
=) 1 6) 30
; ] x 8 4
S g 1(2|0
}{ -
- +2(4]0]0
5 S | :l S | I:I
+ 1920 I
2|68 |8
7 1 §) 2
3 4 3
303 = 9 1
37 43
385 +3)8 70
s 1630 3lo)13
2[0[3]5




